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7 Shonht L 1 150000 150000

2 luuilruururh 0.5 L 110000 ss000
3 aururnhurnurlr t.I2 L r"10000 123200

4 t[urutnhurnurh t.L2 t 110000 123200

5 'Ituuurhrunruh I.L2 t 110000 123200

6 bnrudhrur, utrunnt-unllq o.75 L 110000 82s00
7 luruurhrunurh h oqhurh urh L 1 r.05000 105000

8 lurutnhurnurL h oqburL ulL I 7 105000 10s000
9 }uuurhurnurL h oqhtuL ullr 7 t 105000 10s000

1C funhurnrunh oahruhurh 0.5 t 105000 52500

11 Fmdpnr-tn o.75 L 10s000 78750
L2 funhrunurn L L 105000 10s000
13 lntrunuurh 0.s L 105000 s2s00
L4 Lrlurgurnurn 0.2s t 105000 262s0
15 Zunlurpunurn 7 2 105000 10s000

16 Cdurhnrub nutllnn 0.25 I 10s00c 26250

Ctrnunihhn 12.86 L7 175000c 1418350
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